

RACE 1	Volt 2140 RANK
Only ranking.	A: 5
	B: 2-11-12-8-6-4-7-1-9
	C: 10-3-13

Top 4 : **5 - 2 - 11 - 12**

Quinella:	Trifecta:
Horses: 2, 11, 12	1:5
U-Horses: 5	2: 2, 6, 8, 11, 12
Total: 3 x 40 = 120	3: 2, 6, 8, 11, 12
	Total: 20 x 2 = 40





RACE 2

V65-1

Auto **2140**

4 Ready To Run H.C. has started his career in the best way and is unbeaten after two starts. Now debut behind the gate, but that should not cause any problems. Top chance to score the third win in a row. **7 Mellby Maleficent** won easily last time and should she find the lead, she is the biggest threat to the favorite. **8 Sign Of Times** has done well so far, but this starting position is poor. **1 Queen Gold** gets a defensive trip here and is primarily a place bet.

RANK	
A: 4	
B: 7-8-1-6-5-2-3	
C:	

Top 4 : 4 - 7 - 8 - 1

Quinella:	Trifecta:	
Horses: 4, 7	1:4	
U-Horses:	2:7	
Total: 1 x 100 = 100	3: 1, 2, 3, 5, 6, 8	
	Total: 6 x 2 = 12	

RACE 3	V65-2	Volt 2140	RANK	
6 Finnskog Zera has no	t won on Swedish soil in [.]	four starts, but looks	A: 6-3-8	
to have a nice task here	. The mare is a quick start	ter and from the lead		
she is not easy to beat	. 3 Madeleine R. gallope	d from the start last	B: 1-12-13-14-4-15-2-9-10)-5
time, but scored two ni	ce wins before that. Good	I draw and should be		
considered. 8 Lome Silje	did decently last time. No	ow probably barefoot	C: 11-7	
for the first time, which	is interesting. 1 Björnli A	da was scored a nice		
victory two starts back	. Should not be overlooke	ed.		

Top 4 : 6 - 3 - 8 - 1

Quinella: Horses: 1, 3, 8 U-Horses: 6 **Total: 3 x 50 = 150** **Trifecta:** 1: 1, 3, 6 2: 1, 3, 6, 8 3: 1, 3, 6, 8, 13, 14 **Total: 36 x 2 = 72**



RACE 4

Bollnäs

V65-3

Auto **2640**

11 Henessi Tornado has impressed and won three of his five starts. Nice type who can win this race in different ways and should have good chances of victory despite this starting position. **2 Delwin Rice** still has not won after 14 attempts. Fast when he can save the speed and has to be considered then. **5 Lyckans Judith** has not convinced at the end. Now barefoot for the first time. **7 For Sure Aldebaran** is strong and tough and this distance is an advantage.

RANK
A: 11
B: 2-5-7-6-3-9-10-8-4
C: 1

Top 4 : 11 - 2 - 5 - 7

Quinella:	Trifecta:	
Horses: 2, 5, 7	1: 11	
U-Horses: 11	2: 2, 5, 6, 7, 9	
Total: 3 x 40 = 120	3: 2, 5, 6, 7, 9	
	Total: 20 x 2 = 40	

RACE 5	V65-4	Auto 2140	RANK
4 Powhatan U.S. did	well last time in a Breede	ers' Crown race won	A: 4-3-10
by Macahan. Now the	e four-year-old is going do	own considerably in	
class and should have top chance from a good starting position. 3 Ka B: 7-2-6-9-8-12-11			B: 7-2-6-9-8-12-11
Boom Mearas won directly in the debut for Oskar Kylin Blom and we			
wouldn't be surprised i	f he takes the second straig	ght. 10 From The Hip	C: 13-1-5
has done well in all st	arts this year. Paused a fe	w weeks, but should	
be considered immedia	ately. 7 Takemetoheaven i	s still in good shape.	
Marcus Lilius for the fi	rst time is interesting.		

Top 4 : 4 - 3 - 10 - 7

Quinella: Horses: 3, 4, 10 U-Horses: **Total: 3 x 50 = 150** **Trifecta:** 1: 3, 4, 10 2: 2, 3, 4, 7, 10 3: 2, 3, 4, 7, 10 **Total: 36 x 2 = 72**

Bollnäs



RACE 6

V65-5

Auto **1640**

10 Guli Em won easily last time in a top time. High capacity and should have top chance despite this number over the short distance. **9 Farmpilot** returns after a long break. Good for this class and usually does not need a run under his belt. Won five out of ten over the distance. **3 Prinsen Af Sola** has a nice starting position and will run barefoot and with an American bike. In the battle of victory. **7 Grådö Bo** is a quick starter and possible too despite this lane behind the gate.

RANK	
A: 10	
B: 9-3-7-6-8-11-2-12-5-4	
C: 1	

Top 4 : **10 - 9 - 3 - 7**

Quinella:	Trifecta:	
Horses: 3, 6, 7, 8, 9	1: 10	
U-Horses: 10	2: 3, 6, 7, 8, 9	
Total: 5 x 20 = 100	3: 3, 6, 7, 8, 9	
	Total: 20 x 2 = 40	

RACE 7	V65-6	Volt 2140	RANK	
•	ist with the circular start a		A: 7-5	
his total of four victorie	position the five-year-ol s. Leads the race for a lor ough competitors most of	ng time. 5 Rajon has	B: 8-13-10-15-12-3-9	-14-2-6-4
in class and is an early c	ontender. 8 Doldis has go	ot two runs under his	C: 11-1	
	In the mix with the right ugh and benefits from qu	, ,		

Top 4 : 7 - 5 - 8 - 13

Quinella: Horses: 5, 8, 13 U-Horses: 7 **Total: 3 x 40 = 120** **Trifecta:** 1: 5, 7, 8, 13 2: 5, 7, 8, 13 3: 5, 7, 8, 10, 13, 15 **Total: 48 x 2 = 96**

Bollnäs

Friday, July 19

RACE 8	V3-2	Volt 2140	RANK
Only ranking.			A: 5
			B: 6-1-8-10-4-7-2-3-12-11
			C: 14-13-9

Top 4 : **5 - 6 - 1 - 8**

Quinella:	Trifecta:
Horses: 1, 6, 8	1:5
U-Horses: 5	2: 1, 4, 6, 7, 8, 10
Total: 3 x 50 = 150	3: 1, 4, 6, 7, 8, 10
	Total: 30 x 2 = 60

RACE 9	V3-3	Volt 2140	RANK	
Only ranking.			A: 9-1-4	
			B: 8-3-7-10-6-5	
			C: 2	

Top 4 : **9 - 1 - 4 - 8**

Quinella:	Trifecta:
Horses: 1, 4, 9	1: 1, 4, 9
U-Horses:	2: 1, 3, 4, 8, 9
Total: 3 x 40 = 120	3: 1, 3, 4, 8, 9
	Total: 36 x 2 = 72